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,205,000

206,571
309,858

170,

000

A 448,571

HH A

901,429
631,000

81,129
189,300

500,

000

401,429

403 AXHHSXH=0lA

A A

901,429
631,000

81,129
189,300

500,

000

401,429

H M

901,429
901,429

631,000
81,129
189,300

500,

000

401,429

Mo

830,000
581,000

74,700
174,300

500,

000

330,000

403 TtXI M SA=01A

HH

830,000
581,000

74,700
174,300

500,

000

330,000

Mo

830,000

830,000
581,000

74,700
174,300

500,

000

330,000

-

ALHASEML (T 22AA)(HE)

1,018,300

1,486,700

AN 468,400

401 A& H

ne
I
o
=

1,018,300

1,486,700

N 468,400




2N

1PN [ &l
MY SEME)INRE
Sl SEMHHATY CEEEED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
01 A& HI 1,015,300 1,484,700 N 469,400
OAGAASTE ML (M4 22AA) 1,015,300
03 Al& 201 1] 3,000 2,000 1,000
ORASATEHML (B4 SLAY) 3,000
SEUS 2| (2EAY)(Md8) 820,000 400,000 420,000
403 X SHMS K201 A 820,000 400,000 420,000
02 3I2SH St 2 A 2 AL B 820,000 400,000 420,000
Oszts=Ea(293d9) 820,000
SEUS=EIANY(UHsSDE)(XE) 400,000 0 400,000
403 ItXIHXM S K201 A 400,000 0 400,000
02 3J2SH S =2 A 2 A B 400,000 0 400,000
Ossls=EaMgd(Ulsnsg) 400,000
OIS¢HSI(ESEHL ) (s=0IS) (X&) 430,000 0 430,000
403 ItXISH XS K201 430,000 0 430,000
02 BI|2SH S22 2 EAFE H 430,000 0 430,000
OLIS¢ESI(ESEMNL)(sEDE) 430,000
OIS SI(Xsie)(Ss302) (M) 130,000 100,000 30,000
403 X SHMS K201 130,000 100,000 30,000
02 SO 2SOHUSHA =S e A I 130,000 100,000 30,000
QUISSEII(RENE)(sst20tE) 130,000
OIS HSI(XNSHE)(PL0I2) (X&) 380,000 100,000 280,000
403 IR SHHSA201 A 380,000 100,000 280,000
02 3J2SH SR 2 A 2 AL B 380,000 100,000 280,000
ONISSSI(MEMNL)(FLOIS) 380,000
OIS HSI(NSNL)(SHOIE) (X&) 180,000 100,000 80,000
403 ItXIHNMSA201 & 180,000 100,000 80,000
02 B3I SH A2 2 & A B 180,000 100,000 80,000
OLIS¢EI(MBNL)(EAM0IE) 180,000
OISSSII(ASHE)(0IHEOIS) (M &) 380,000 100,000 280,000
403 ItXISHH S K201 380,000 100,000 280,000
02 B2/ 2S0 et 2 2 EAFE H 380,000 100,000 280,000
OOISSEI(MSHL)(DtHEDIE) 380,000
OIS SI(sie ) (d=0t2) (X &) 320,000 100,000 220,000
403 X SHMS K201 320,000 100,000 220,000
02 SI2S 0 CHet A2 | & A B 320,000 100,000 220,000
OIS SI (ML) (E220I2) 320,000
OIS 2HSI(XNSHE)(SAOFE) (X&) 400,000 100,000 300,000




2N
X ZH -
L= B

el

O O ne

NEIEDIES
EMEIBRE
= EET]

SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
403 MR HHS K201 400,000 100,000 300,000
02 3II2SH S =2 2 EF AL B 400,000 100,000 300,000

OusS2sIl(AAsiHg)(sanrs) 400,000

OISSI(XNSHE)(EEOIE) (X&) 250,000 0 250,000
403 ItXISHXMSA201 & 250,000 0 250,000
02 BI2SHUSA=2ERAEAIS Y 250,000 0 250,000

OLIS2¢SI(MsiHe)(2d0r2) 250,000

OIS 2SI (M) (atHEoIS) (& &) 255,000 0 255,000
403 ItXISHHMS K201 255,000 0 255,000
02 2/ 2S00 St 2 2 EAFE H 255,000 0 255,000

OIS ESJ (M8 (stHEOIE) 255,000

OIS HSI(XsSHE)(PHOS) (XS 200,000 0 200,000
403 X SHMS K201 200,000 0 200,000
02 SI2S0HCHst A2 | AL B 200,000 0 200,000

OOISSESI(MEMNL)(FEDIS) 200,000

OIS 2HSI(XNSHE)(0IE02) (X &) 210,000 0 210,000
403 ItXIHAMSA201 A 210,000 0 210,000
02 3I2SH S =2 2 AL B 210,000 0 210,000

OLIS2ESI (ML) (0IZ20H2) 210,000

OISHSEI(XNENL)(HAOIS ) (X&) 250,000 0 250,000
403 ItXISHXM S K201 250,000 0 250,000
02 BII2SH St 2 E 2 &AM H 250,000 0 250,000

OLIS2ESI (MBI (HEDES) 250,000

OIS 2SI (M) (& &) 300,000 0 300,000
403 ItXISH XS K201 300,000 0 300,000
02 SISO 25 e A I 300,000 0 300,000

ODISSHEINI(KH2IHL)(3M0FE) 300,000
A2 st 286,000 300, 000 A 14,000
hag 200,000
= 86,000
403 ItXISHHSA201H 286,000 300, 000 A 14,000
rag 200,000
= 86,000
02 3I2SH S22 AL B 286,000 300,000 A 14,000
ONZE&E23 286,000
ax 200,000
= 86,000

SEEZ2ZAUZTH (XL 100MXIF) (& &) 402,000 0 402,000

401 Al HI L 2 0HHI 402,000 0 402,000




2 dXteld A
MY SEME)INRE
Sl sEMFHATY (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 A& HI 400,000 0 400,000
O=sZE 33U (Z==100M X 7) 400,000
03 Al S THHI 2,000 0 2,000
O=Z8 33U UFE(Z==100M X 7) 2,000
sELACIES 1,520,500 467,200 1,053,300
= 80,000
s 75,500
< 19,000
s 1,346,000
HsAHEIIBES 1,520,500 467,200 1,053,300
= 80,000
s 75,500
< 19,000
s 1,346,000
CANsERIXNE 100,000 60,000 40,000
= 50,000
< 10,000
s 40,000
307 glz2tol & 100,000 60,000 40,000
= 50,000
< 10,000
i 40,000
02 IS AMHEE 100,000 60,000 40,000
OZANE SERIXNHAY 100,000
= 50,000
< 10,000
i 40,000
sENE SN (HsHEELSXH) 151,000 146,000 5,000
as 75,500
i 75,500
307 glz2tol & 151,000 146,000 5,000
s 75,500
i 75,500
02 IZtE M AHEE 151,000 146,000 5,000
OFsHE 243 NIAEY 151,000
s 75,500
i 75,500
H=sHEQ EBIE 22ldl X 50,000 25,000 25,000
402 RIZ2HRt20l 50,000 25,000 25,000
01 212t 2 AL E = (REM ) 50,000 25,000 25,000
OFAsHEL B1&E =cld X& 50,000
HsHE & NJAWH 24 117,600 140,800 A 23,200
307 gl2tol & 117,600 140,800 A 23,200
02 IZtA M AIHE L 43,800 140,800 A 97,000




2N
X ZH -
L= B

el

2 Xtel E M A
sEYNLE S

HAsHEI LS

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OHFsHE NF 294 43,800
03 A EES2LHIES 73,800 0 73,800
OA=sHE S NJHH 29 73,800
Hs & NEAEY 60,000 90,000 230,000
= 30,000
< 9,000
s 21,000
402 RI2FXt20| ™ 60,000 90,000 230,000
= 30,000
< 9,000
s 21,000
02 QI 2 AL EZ (01X TH ) 60,000 90,000 30,000
OF=seo & XN AY 30,000,000 «2J4 2 60,000
= 30,000
< 9,000
[ia 21,000
HsHE 2 =& 6,900 5,400 1,500
201 Let24E] 1,880 2,100 A 220
01 At 22l 1,880 2,100 A 220
OAsHE 925 BN +¢
70,0003 x6H *43] 1,680
OFs7E 422 2E7Y 200
202 04l 5,020 3,300 1,720
01 S LHOIYI 5,020 3,300 1,720
OAsHEL2ET 4,320
OASHE 823 B4 L 253 TN &g 700
Hs=sHE B NJAHH M= 770,000 0 770,000
401 Al HIZ 201 8] 770,000 0 770,000
01 A& HI 748,000 0 748,000
OFAsHE & NJAHH &= 748,000
02 Zteltl 19,000 0 19,000
OFsHE & NJAHH A= 19,000
03 A& =2 THHI 3,000 0 3,000
OFAsHE & NJAHH &= 3,000
FHes - HELU FH AF ZAH XA 15,000 0 15,000
402 RI2HXt20l ™ 15,000 0 15,000
01 212t 2 AL E = (REM ) 15,000 0 15,000
OFs - AEQ =& 4 &Y X2
2,000, 000& *15& Jt*50% 15,000
Hs - HEQ &H JIBZH ALY 100,000 0 100,000
401 Al BIZ 201 8] 100,000 0 100,000




2N Xl A

g sEgdlelEs

el AsHEIIBES (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 A& HI 100,000 0 100,000
OAM=HEC & JIPZH A
10,000, 000& * 109t + 100,000
HMHE =2He s& ZdAdY 150,000 0 150,000
401 Al HI K 201 I 150,000 0 150,000
01 A& Hl 150,000 0 150,000
OMME =2HE s& ZEAME
30,000,000& 5= 150,000
HE2IAIH (L2 HA) 36,761 33,036 3,725
JlE&dl 36,761 33,036 3,725
Jl2ztl 36,761 33,036 3,725
201 Let2d] 21,481 19,656 1,825
01 At 22l 21,481 19,656 1,825
otzx=g 700,000& 4= | 2,800
O=AEXNTY 22,9003 23 A 128 6,321
O=SAD Xtz 330,000& *2CH+128 7,920
OgleIZMA R =M U2 SA =l
8,000& x10H 24 1,920
O3 Xtz 60,000& x12& 720
OZ3J18&J| dx& 50,000& x12& 600
OMEL ARES 100,000 «12& 1,200
202 O4dl 7,680 7,680 0
01 = LH o4 HI 7,680 7,680 0
FN2E NI 40,000 x16H =123 7,680
203 YR =2l 7,600 3,600 4,000
01 JIZ2Z YR 4,000 0 4,000
OJI228 g2 =4l 4,000
04 FN2ELRZ=TH 3,600 3,600 0
ORM2gHI 300,000& »12& 3,600

_20_




